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2N SBS
Ha: SES2Y
Hel: SES A3 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HI RS2
sSES 231,738 242,169 A 10,431
SES=2Z 164,938 172,406 AT,468
SES A3l 164,938 172,406 AT ,468
SHS A2l 59,947 59,007 940
201 LEt2A | 52,340 51,340 1,000
01 AtR 22l | 41,840 39,840 2,000
Oger==EH| 11,600 9,600 2,000
02 332gHl 10,500 11,500 A1,000
Odzl 3,500 4,500 A 1,000
307 glztol & 1,140 1,200 260
05 QIRt2IE = 1,140 1,200 A 60
OFMRBHI 1,140 1,200 A 60
A2 ALK E 3,412 8,320 A 4,908
301 LA Z 3,412 8,320 A 4,908
09 AL HIZE A= 2,412 7,320 A 4,908
OANZHEUa ¥ ASHA 1,000 3,500 A 2,500
OE S M A 392 1,000 A 608
O1AHE - AL 0 1,000 21,000
OJIEH AL 0 800 A 800
ANOUHSH2 & 2SS A 0 3,500 23,500
201 LEt2E | 0 3,500 A 3,500
03 &AL2 I 0 3,500 A 3,500
OAMEN=CHE & ASHA 0 3,500 A 3,500
dH2IIH(s5S) 66,800 69,763 A 2,963
SES "2 30,380 32,103 A1,723
SES 0" 24| 30,380 32,103 A1,723
101 @124 4] 30,380 32,103 A1,723
03 RIHAZ 22 = 30,380 32,103 21,723
ORIAHA2Z2RNE = &l AH N1,728 0 A1,723
S&s Jl=3l 36,420 37,660 A 1,240
s5s JlaZl 36,420 37,660 A1,240
201 LEt2E | 6,150 7,100 A 950
01 AtR 2t 2l | 4,150 4,100 50
OsRLHEZRxYH 2,950 2,900 50
02 3324gHl 2,000 3,000 A1,000
O Xl 2,000 3,000 A 1,000
202 044l 15,310 15,600 A 290




2N S5
HM: HHRHBH(SES)
He S5S Jl2&l (9 ® =)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Hns2
01 2LHOHI 900 1,200 A 300
O=2WAHl 900 1,200 A 300
02 EAHNYI 14,410 14,400 10
O A0 I 14,410 14,400 10




